
 

 

 

 

 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 



 

 



 

  



  



  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 x 7 x 8 = 

 

 

327 + ____ = 515 

 

 

____ - 429 = 113 

1 - 5

7
 =  

 

545 + 278 =  

 

34 x 4 =  

 

564 ÷ 4 = 

10 less than 304 =  8 x 4= 90 - ___ 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 x 7 x 8 = 280 

 

 

327 + 188 = 515 

 

542 - 429 = 113 

 

1 - 5

7
 = 2

7
  

 

545 + 278 = 823 

 

34 x 4 = 136  

 

564 ÷ 4 = 141 

 

10 less than 304 = 

294 

 

8 x 4= 90 - 58 

 

10 to 6 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

4 x 8 x 10 =  

 

 

____cm = 3.5m 

 

2:30pm - 15mins =  4

8
 of 40 =  

 

 

334 + ____ = 876  

 

45 ÷ 3 =  

 

32 ÷ ____ = 8 

 

____ - 143 = 405 

 

I have a 50p coin. I buy 

an onion for 33p. How 

much do I have left?  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 x 8 x 10 = 320 

 

 

350cm = 3.5m 

 

2:30pm - 15mins =  

2:15pm 

4

8
 of 40 = 20 

 

 

334 + 542 = 876  

 

45 ÷ 3 = 15 

 

32 ÷ 4 = 8 

 

548 - 143 = 405 

 

I have a 50p coin. I buy 

an onion for 33p. How 

much do I have left? 

17p  

11 o’clock 


